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1. MRTS = -K/L = MPL/MPK < w/r 
If the marginal rate of technical substitution of labor for capital in his production process is substantially lower than the ratio of the wage rate for assembly-line labor to the rental rate on machinery, I suggest that the chair manufacturer increase amount of rented equipment, as well as lower the wage or labor rate in order to bring the ratio down closer to the MRTS.  
2. Even though the marginal cost of production is increasing, we cannot tell whether the average variable cost is increasing or decreasing.  MC = VC/Q, which means that either the variable cost is increasing, or the quantity is decreasing if the marginal cost is on the rise.

3. A firm that incurs losses should choose to produce rather than shutdown in the short run because their losses may be the result of high variable costs.  If this is true then they could possibly lower these variable costs and inevitably turn their losses into profits.

4. A firm maximizes its profit when the marginal revenue is equal to the marginal cost.

a. 60 = 2Q, Q=30
 = 60*30 – (100+302) = $800

b. In the short run the minimal price to charge in will be at any point above where the revenues are greater than the variable costs.  Also the marginal cost must be above the average variable cost.  MC = 2Q, AVC = Q2/Q Since MC > AVC at all points, any price above 0 would be satisfactory.

5. P-MC = -1 
   P        Ed
This equation states that the markup over marginal cost as a percentage of price is inversely proportional to the elasticity of demand.  If demand is extremely elastic, then the price will become very close to the marginal cost.  This can be viewed as a measure of monopoly power as if a monopoly is extremely powerful; there would be little if any elasticity of demand, allowing them to increase their prices.
